Question Paper Preview

Notations :

1.Options shown in green color and with % icon are correct.
2.0Options shown in red color and with # icon are incorrect.

Question Paper Name :

M Sc Zoology 03rd July 2023 Shift 1

Subject Name : M.Sc. Zoology
Creation Date : 2023-07-03 14:34:43
Duration : 90
Total Marks : 100
Display Marks: No
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required? : No
Show Watermark on Console? : Yes
Highlighter : No
Auto Save on Console? Yes
Change Font Color : No
Change Background Color : No
Change Theme : No
Help Button : No
Show Reports : No
Show Progress Bar : No

Group Number :
Group Id :

M.Sc. Zoology

1
18152069



Group Maximum Duration :

0

Group Minimum Duration : 90

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 100

Is this Group for Examiner? : No

Examiner permission : Cant View

Show Progress Bar? : No
PART A

Section Id : 181520108

Section Number : 1
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Number of Questions : 40
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Section Marks : 40

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 181520132

Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 1815207213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following enzymes is responsible for breaking down complex
carbohydrates into disaccharides in the small intestine?

3008 ) 28 ) 3TBE D D) Do BarsBEen™ 225200508 806
OB DA 2I5eh 3o N0E?
Options :



Pancreatic amylase

o ar0l8aire3s @R

Sucrase
NET®
2. %

Maltase
NS
3. %

Lactase
v

4. %

Question Number : 2 Question Id : 1815207214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following enzymes is responsible for the final breakdown of proteins
into individual amino acids in the small intestine?
DS) HOS FFErE @S e.5renT ¢3S0 O DD I dE 8od
DOBDOS DA 2CI5eh 5T NOA?

Options :
Trypsin
L BDIS

Chymotrypsin

- VAT AT

Aminopeptidase
90 S DRTBO

3. %



Dipeptidase

\ v T OPBR

Question Number : 3 Question Id : 1815207215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the primary organ responsible for the assimilation of
absorbed nutrients into the body's cells in vertebrates?

HEFHTOS YO8 EerereT’ 8 FFA0WDAES FASTOD dNEBOITDE 8od
3 D PHONE 9630950 23°¢I 56 3TN0 ?

Options :

Large Intestine
2D "ath

Pancreas
rsoSoirm

Liver

s STE0N0

Small Intestine
D) D

Question Number : 4 Question Id : 1815207216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which gastrointestinal hormone stimulates the release of digestive enzymes from
the pancreas?

ars0lB0SrR DO BERD OB ® DGO [T N0T I EFR0TINOSO
TS DO?
Options :

Ghrelin

O

l. %

Cholecystokinin (CCK)

§OREFZON (CCK)
2.

Gastrin
TILRS

Secretin

Question Number : 5 Question Id : 1815207217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following gases is the primary regulator of respiration in the human

body? )

806 OO S13ss B80T F£HEONEL IHDTS AOHOBE0 DE?
Options :

Oxygen (O2)
. es§y230 (02)



Carbon dioxide (CO2)
G0 3@ 35,8 (CO2)
2.¢

Nitrogen (N2)

T3S (N2)
3.8

Helium (He)
sr®oHo (He)

Question Number : 6 Question Id : 1815207218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which respiratory pigment is found in the blood plasma of some invertebrates and
uses copper as a central atom?

§Q)) ©i3%se 38 oFarieY Trhd ToIE HESPENIT SIBEAOT T2 508N
31856350 DO?

Options :

Hemoglobin
PN VAP

l. ®

Myoglobin
DS

2. %

Chlorocruorin

i §EErOS



Hemocyanin

=] M= =
L o)” a3T° LIC) D

Question Number : 7 Question Id : 1815207219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which process is responsible for the exchange of chloride ions (Cl-) and
bicarbonate ions (HCO3-) across the red blood cell membrane?
S 58 e ¢4 5290 e00e5eP § DB 0iTD (CF) HO05M B5H )RE oo
(HCO3) 5B B38 528580008308 (180D ) B7?

Options :

Chloride shift

§$B6 2
.v 7T =

Bicarbonate shift
THHRE 1P

Chloride pump
§B& HoOD

Bicarbonate pump
B5TIDE HOD

Question Number : 8 Question Id : 1815207220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following is an example of a neurogenic heart?
808 ¢3S AP RIS HOTE SIS OO?

Options :
Human heart
NN IS AR Te W)
1. %
Fish heart
2O HoE
2. %
Earthworm heart
el MOTE
3.¢¥
Bird heart
4 s a’ai (bo@

Question Number : 9 Question Id : 1815207221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following factors is responsible for the initiation of the blood clotting
cascade?

580 HEED) 525058 15750278 808 (:80) PSS DO e ses
2o e 0E?

Options :

Factor X

S50 X

1. %

Factor VII
2. % EE0 VI



Factor XlI
3 5RO X

Factor VI
50 VI

4. %

Question Number : 10 Question Id : 1815207222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which part of the nephron is primarily involved in the counter current
mechanism for urine formation?

S50 NEIB TS §80¢5 DsNB0S TaraeSR & a0 (Do
Y 0EN0O?
Options :
Glomerulus

1 A EHOD
L&

Proximal convoluted tubule
158 o0 T eNTIG e

2. %

Distal convoluted tubule

AYS FITHE earsard
3. %

Loop of Henle

X €85 oI D
4.

Question Number : 11 Question Id : 1815207223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following molecules is responsible for binding to calcium ions and
initiating muscle contraction?

808 ¢3S 5E)ONH0 AFSOE 0HOIERE HOAD §0Tre HoST)
PG00 ETAE 2 et 2 Ees 2T N0R?

Options :

Actin

. asr8S

Myosin
SO

Troponin

E°FDS
3.¢

Tropomyosin
S TS

4. %

Question Number : 12 Question Id : 1815207224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During prolonged muscle contraction, which energy source is utilized to sustain
ATP production?

AR F0ST HOEH0 DHANOES, ATP ¢5eh 1B EIaTA0NITIE &)
38 S SHTA0LIDDB0E?

Options :



Glycolysis

RSB IARS
1. = =

Krebs cycle
1320 E®

Electron transport chain
DOSS 1878 BS

ol

Beta-oxidation of fatty acids
§69 5 es3e) 2)er-es8 )5S

Question Number : 13 Question Id : 1815207225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What initiates the depolarization phase of an action potential in a neuron?
SsTPRE TG Do2rsed D308 BFOBBAD GOF D DO [PG08)D0H?

Options :

Influx of sodium ions (Na*)

v PAON0 AP (Darearo (Na*)
1.

Efflux of potassium ions (K~)

, SFEFA0N0 eOIFY |Darr0 (K*)
L ®



Influx of calcium ions (Ca®")
O ON0 @O (D0 (Ca?t)
3. %

Efflux of chloride ions (CI)
§BE 00T (D0 (CF)

4. %

Question Number : 14 Question Id : 1815207226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an inhibitory neurotransmitter in the central nervous
system (CNS)?
806 53365 TOS T 53590 (CNS)ES AFDE B 1ErSINes DE?

Options :
Glutamate
(PP erZéd
1. ®

GABA (Gamma-aminobutyric acid)
, o GABA (MTeS0P-20 03 S 227251 ¢35 AP &)

Dopamine

EHNS
3. %

Serotonin

2ESDS
4. #

Question Number : 15 Question Id : 1815207227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which secondary messenger molecule is involved in the action of steroid
hormones?

DT ONE TN 19856 ) DE0ES 0238 el arS 0en0H?

Options :
Cyclic guanosine monophosphate (cGMP)
85 S E S ETEIE (cGMP)

l. %

Inositol trisphosphate (IP3)

QS EFS (338 (IP3)
2.

Diacylglycerol (DAG)

i GArONdT S (DAG)

Calcium ions (Ca®")
52)OH0 eaairad (Ca)

4. %

Question Number : 16 Question Id : 1815207228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which hormone is responsible for the initiation of the menstrual cycle?
220680 B0 (BrB02rR8 STERHN: TS AO?

Options :
Follicle-stimulating hormone (FSH)

FOES-0I0 D300 FE (FSH)
1.¢



Luteinizing hormone (LH)
exre3T200 55528 (LH)

2. %
Estrogen

3w SUTES
Progesterone
S e

4. %

Question Number : 17 Question Id : 1815207229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following mechanisms is involved in the regulation of body
temperature?
308 &af(ifes DoHo|sS &2 1800 SRBHOS DA TS 0ENno&?

Options :

Negative feedback loop

) T3S DB 2§ erd
1.

Positive feedback loop
L, TRES NG 255 D

Feedforward control
D& 3roe 50 oS

3. &%



Meurotransmitter release
&S e 260 DO
4. %

Question Number : 18 Question Id : 1815207230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which organ in marine fishes is responsible for excreting excess salt to maintain
osmotic balance?

D0 TR 2) 95500650 (98B DRI 2eH D SToPCHESTRE
@) e Je DOQOT 23763565 oSarcod?
Options :

Kidney
8

l. ®

Gills

06 e
2. ¢

Intestine
2H

Liver
TEHONO0

Question Number : 19 Question Id : 1815207231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which enzyme is involved in the regulation of the citric acid cycle (Krebs cycle) in
cellular respiration?

e erd F°ed80HES VL3S AFDE DES (I35 ) DES) daHosseasS o
DO ol 0EN0D?

Options :
Succinate dehydrogenase

DEITE G BRI

Malate dehydrogenase

SrBE AEETO

Isocitrate dehydrogenase

o OO VBE G F2TR

Pyruvate dehydrogenase

DRSO A BETO

Question Number : 20 Question Id : 1815207232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which enzyme complex is responsible for ATP synthesis during oxidative
phosphorylation?
SEVTBEIS TFFIDBAS D0AN0ES’ ATP 03850 SEE2DTDE DOBD
SO E ) DA?
Options :
ATP synthase

v ATP 203



NADH dehydrogenase
NADH &3 8230

Cytochrome c oxidase
REIED D s8)BR

Ubiquinone reductase
oS08 S'S BT

4. %

Question Number : 21 Question Id : 1815207233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which molecule provides the amino group for the synthesis of urea in the urea
cycle?
GBS HE0S CRHrOASE H03NE N0 e90S HeNIHTR) o) g
©0AN0E?

Options :

Aspartate
corrIBE

l. ®

Glutamate

(rerhe
2.

Ammaonia
2930 ONT

3. %



Alanine
4. ® ©OI

Question Number : 22 Question Id : 1815207234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which molecule is produced as a byproduct during the beta-oxidation of fatty
acids?

£ 5 @30 Der-e38 )55 DaHO0DO 53 G5 IBT &) e creh e
2953007

Options :
Acetyl-CoA
P BID-CoA

NADH

NADH
2.¥

FADH:2

3 FADH:z

Glycerol

AdTr O
4. %

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options are
chosen.

Question Number : 23 Question Id : 1815207235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which type of cell is known for its cytotoxic activity against infected cells and
tumor cells?
85 Bearen SHOA P00 EeTerBy 55T EOMT EEFET 9850 DV
TOAN WO G507

Options :

B cells

| g B

T cells

- T D)

Natural killer cells

3 . o 5NGO b )

Macrophages
S EED

4. %

Question Number : 24 Question Id : 1815207236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which organ is responsible for the production and maturation of B cells in the
immune system?

EHITEE 359065 B Eere) 56518 500050 HONELHH) o) 9650050
2°CH565 a0 ?
Options :
Thymus
PNV

l. %



5Sp|een
EVEORANAY
2. %

Bone marrow

s 08 0

Lymph nodes
FASD 6

4. %

Question Number : 25 Question Id : 1815207237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a physical barrier in the innate immune
response?
806 73S DB THATEE (HBIYJONRES 2738 58 RS STt

DO?

Options :
Complement proteins

1 ORI O (836D
. ®

Natural killer cells
o° GO 8§86 RO

2. &%

Cytokines
VEISY

3. %

Epithelial cells

DOOOHS DY
4.



Question Number : 26 Question Id : 1815207238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the significance of T cell epitopes in vaccine development?
835 @850’ T DS DD [BFPS0W5eh DE3?

Options :

They induce the production of antibodies
D airoedar@ed ¢5e5 18R B DRToN

They activate cytotoxic T cells
@) EErEIE T errercd HI8aHo Tarow
2.¥

They promote immune memory
€99 BHATHE D88 18965 yarar on

3. %

They modulate the complement system

\ €99 S0V 0ET VAN ST EBE T oW
L&

Question Number : 27 Question Id : 1815207239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a characteristic feature of the primary immune response
in antigen-antibody reactions?

ArOB3BS-0ir0e3erd (D3SO [BPGNE BHATHE (0635065 By,
D05 S ©5 0o §oc’i:. ¢3S DO?

Options :



It is slower and of shorter duration compared to the secondary immune
response

& 530D BHEATHE 1980 FOW A To0IOT OGN €5807.05
555665 &0

It is characterized by higher antibody affinity and specificity
20 @O airot3erd 00 HO AN o

S0EB0TI22CE0D
2. %

It primarily involves the production of g antibodies

v QA DO IgM 5P 0¢3er3R &5¢5 18 O 0en0d

It does not require the involvement of B cells
AAE B 4570 (H2DON0 955380 BN

4. &

Question Number : 28 Question Id : 1815207240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which technology is commonly used for the production of monoclonal
antibodies?
IrSTIS airot3erdR e 188 SrrG0T GHITrNOT aroiesd D62

Options :

Hybridoma technology

- PEE S TS 028

Recombinant DNA technology
6508 T0¢3 DNA Bse) 028



Gene editing technology
20 VG300 Bz @28

3. %

Polymerase chain reaction (PCR)
ar@enln B BOSrS S (PCR)

4. %

Question Number : 29 Question Id : 1815207241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following cells is responsible for presenting antigens to T cells?
T $e7r 0% 05r03BSON @oHoNERE 1806 Se7rerdS DO arcdsed
darcoB?
Options :
Macrophages
v S ETNED

B cells

B &)
2. %

Natural Killer (NK) cells
e eGO 8§06 (NK) D)

Neutrophils
V(AR ION
4. %



Question Number : 30 Question Id : 1815207242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements best describes the role of MHC class |

molecules?
MHC 50 | e0£0s)® ar(e5c 8060 73 DO &30 DSON0O?

Options :

They present antigens to CD4+ T cells
@3 CD4+ T e fy airotd3B e e0dEaron

They are involved in antibody production
@) Oiroederd &b 86T rSoeron

They present intracellular antigens to CD&+ T cells
@q) CD8+ T ¥ ¥y Ee7r06d8 ASroe3BSeral e0ddB T o

They are responsible for complement activation
@) SP0N0E) ASFERATEL e3¢ 56 05O

Question Number : 31 Question Id : 1815207243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements best describes the receptor interaction of
cytokines?

806 T3S DEFESE [TPsTE HBDYG 5820 SB.D0M DIBOT (55D
DE?

Options :



Cytokines bind to cell surface receptors with high specificity
EETeD @968 ADNHS VD SHOBO TIFSOS 20O 0N

1.v

Cytokines are internalized by cells to initiate a signaling cascade
21000 525038 (S0 oBErE Sered e sor EESew
@05 GeS0MT OO

2. %
Cytokines can directly penetrate the cell membrane
EFESen TEI™ &6 €6 50505 8 TN E0eFEran
3. %
Cytokines interact with DNA to regulate gene expression
2005 6558885698 QOHOIBOERE e Sen DNAS H0EUe
DOLOTOW
4. %

Question Number : 32 Question Id : 1815207244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a key feature of humoral immunity?
806 ¢3¢ TS RrsRE3 TB0E) S OE L0 DO?

Options :

Activation of T cells
T D) A5r§oDaAS



Direct killing of infected cells
P8 EETrecd [T LS00

Production of antibodies
OIF 032 BR ereh e
3. ¢

Release of cytokines
VEES DS

4. %

Question Number : 33 Question Id : 1815207245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the primary mediator of the immediate hypersensitivity
reaction in type | hypersensitivity?

DD | 370NN’ 658 £2 30BN )E3NES BOSr S S8 8o a7e3’
EPODE 083550 DE?

Options :

|IgG antibodies
IgG O5r0e3er&HR

1. %
IgM antibodies
IgM G5r0e3erGR
2. %
IgA antibodies
IgA O5r0e3erBR

3. %



IgE antibodies

IgE 05 0e32r
4.9

Question Number : 34 Question Id : 1815207246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of an autoimmune disease?
806 ¢3S @963 RS o7eH8 ST E DO?

Options :

Type 1 diabetes
oo 1 Bairz3edn
1.

Seasonal allergies

), SO o Ben

Bacterial pneumonia
2r8809HS SETFAAET

Osteoarthritis
s esGB 3D

4. %

Question Number : 35 Question Id : 1815207247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a disadvantage of inactivated vaccines?
IBAS S50 TONDAS 55815 T30EL 1HBETFOS (808 73S DO?



Options :

They can cause severe adverse reactions in some individuals
299 §0$H:00E 50O SIS (DB (DBTIG N EORT oW

1. %
They provide only short-term immunity
e D50 15°O)% BHATEE 48 S evsh e@odHT o
2. %
They require multiple doses to achieve optimal effectiveness
ATBN (2220 rOOWEWE DTVY JIFSENED 95050
3.¢¥
They have a higher risk of reversion to a virulent form
29 S8V EFHOSE BOA ST (93770 DBV G0N0
4. %

Question Number : 36 Question Id : 1815207248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the advantage of using lambda bacteriophage as a cloning vector
compared to plasmid vectors?

2025 SEBIE FOW er0LP 2rE0Tr DS o SA0R SEOM &HTITA0BB0
I8 1DTIF2IN0 DN E3?

Options :

It allows for the high-level expression of cloned genes
260 §S TODHDA 205590 TBVEY Eed) -7 00 0955888

2980 N0
1. &



It can replicate autonomously in bacterial host cells
2B 2r800HS TR TS D S000DBHBES DDA

It has a higher transformation efficiency
28 @08 D058S arnT i) $OA Gotnod

It can accommodate larger DNA inserts

26 W DNA 285050 e9c0dreomr &oénod
4.4

Question Number : 37 Question Id : 1815207249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which cloning method involves the insertion of a desired DNA fragment into a
vector and its subsequent replication in a host organism?

) SR0R HABS’ 525632005 DNA 277 IF65°8 1303075850 0O
20 20 TR SN |DBETH0 GOEN0E?

Options :

Recombinant DNA cloning
- 65°028)T0¢S DNA SQ0h

Reproductive cloning
OLEres§s SQOR

Therapeutic cloning
Sorayr:e3s §oh



PCR cloning
PCR §Q0h/

Question Number : 38 Question Id : 1815207250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following steps is involved in the process of subculturing animal

cells?
23068 EET@ BAN0NL Y T 1HEHS & (8od B3 O
S 0EN0H?
Options :
Cell lysis

. O B

Cell fusion
O oJPERR

Passaging

S 02200
3.

Differentiation
Zﬁ(ﬁ&@{jnﬁém

Question Number : 39 Question Id : 1815207251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Transgenic goats are engineered to express a foreign gene in their milk. This
gene is typically introduced into the goat's genome using a technique called

2005377038 Dhden a7e3 eSS DT T 236509 55558058
20230000 DoDBETToN & 2308 S0 2.8 arosessesdd
&OBTAOD) & TR0E) 23605965 8 (D33 S
Options :
Embryo transfer

250850 266
1. %

Retroviral transduction
B BES (20,85

2. &%

Microinjection
DIEQ0BES
3.¢

Cloning by somatic cell nuclear transfer

by TS5 DS eoew 268 o sor $A0R

Question Number : 40 Question Id : 1815207252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The pluripotency of embryonic stem cells refers to their ability to
DO NTPOZETO FJOIFBIN,) T3 & WFDTEA), APDNOR

Options :
Differentiate into a specific lineage of cells
QO Sere) BRS S8 S TODERE



Generate multiple tissue types of the body
383065 D% &5 Eereredd Erarod0todD

2.9
Self-renew indefinitely without losing their potency
0 350 85" 1500 QBSIOEOMT 0 LO0D-) DS D e
3. %
Be transplanted into patients without immune rejection
BHATNE @805 BH0E SHOSE 503G DOHSS
4. %
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Which of the following is a defining characteristic of the Kingdom Animalia?
806 73S AIPRSTOT 0Nt TS VB IDOT 50 DO?

Options :
Autotrophic nutrition

¢S5 PN
1. %

Cell wall made of chitin
3358 O S

Heterotrophic nutrition

BT HE A
3.¢

Lack of multicellularity
2708 DewerdeEd BESFSG0
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Which of the following is a characteristic of protozoans?
808 a3 |5FESE T ©E 00 DO7?

Options :

Multicellular organization
DIVT ENLETPD QTR0



Cell walls composed of chitin
335H Srdd S S

2. &

Photosynthetic mode of nutrition
882300 DoOIrdSad &

Unicellular eukaryotic organisms
N EEE OIS O3 E3E 22ajen
4.
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Which stage of the Plasmodium life cycle involves asexual reproduction within
the human host?

T AAN0 BV HEOS'A 2 9% 530S TR’ @BONE YIS IBJ
5O &0enoh?

Options :
Gametocyte stage
o e 53

Sporozoite stage
&FITE 00 &
2. %

Merozoite stage

DO Sond &4
3.



Trophozoite stage
1S 00 &F
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Which of the following diseases is caused by infection with Plasmodium malariae?
T IBON0 HBOAF VO DEN 9D 808 ¢35 D A HNOB?

Options :

Dengue fever
Q0rg 233500

1. ®&
Yellow fever
ey 23580
2. %
Chikungunya
ALV Vv
3. ®
Quartan malaria
5 20S SHBOAST
4. &
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Which of the following is a characteristic feature of the ascon type canal system
in sponges?
T )0E O TS TP IS DN TBE) D ©560 (80O 73S
DA?
Options :
Complex branching canal system

08 27000 Tk QoD
1. %

Flagellated choanocytes
TES VG TOIFrS DD
2. ¥

Syncytial tissue organization
VR IE3ADS E2re) DT80

Incurrent and excurrent canals
2093808 HBAW N8B0 SO
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Which of the following is an example of polymorphism in hydrozoa?
8067¢36T B S TS TFOSTOIBNE GTTE DO?

Options :

The ability of hydrozoa to regenerate lost body parts
§S" 00 83 2P JYIDBB0BERE IPESE T TBE) o



The formation of a protective exoskeleton in hydrozoa
FES S 58 8 FILOOS DB BE0

The formation of feeding tentacles in hydrozoa
FEE TS G0N BoLES ) DEBE0

The differentiation of polyps and medusae in hydrozoa colonies
B TodoS D HOHAH Dhwe B&o

Question Number : 47 Question Id : 1815207259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The digestive system of Schistosoma is characterized by
205 8FF ST TD0E) 205350 AR 0500 SOEBOIDRH0D

Options :

The presence of a complex stomach-like organ for food digestion
@355 228805 5700 H0SATNN B €03 95505650 500

l. %

The absence of a digestive system as it obtains nutrients from the host's
blood

0P G50 OB FEASED FOGB0 IO 20 9550 BES IO
2. ¢

The presence of a single long intestine for absorption of nutrients

FATO e 5500 2.8 erdared b S0keo
3. %



The ability to digest a wide variety of food sources

e O e 3 200 Bobie arndio
4. %
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The life cycle of Dracunculus medinensis, the parasite responsible for Guinea
worm disease, involves

AROT °02 7508 SPHTN DTN 220 @00 [EEHALOMN DGR )0
25 HEO0S QD SoErow

Options :

Direct transmission from person to person through respiratory droplets
F2 008 Do) TP sT° 0558 O 9588 1Dl 1DTE0

Ingestion of contaminated food or water containing infective larvae

ARIES erTr s &) EeNNB VD 957550 B DeE3D) BT N0
2.9

Bite of an infected mosquito transmitting the parasite
DG 288 &FES B sPen

Sexual contact with an infected individual
P8 35868 BoRE o200
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Which of the following adaptations is commonly observed in helminths to
facilitate their survival and reproduction in their host?

2703000 55 TR a3 0DHES SHOCID SYIKSBIBA OIS0
BOHEQE B0H 9:DGEOS O ~rErEe0?

Options :

Increased sensitivity to the host's immune system
U T0E) THADTEE 5555050 00D ) eded o

1. %
Rapid reproduction to overwhelm the host's immune response
20 G308 BHATGE 1296301065805 e9OHDOERE Tss0ed T
DS es yed

2. %
Development of resistant exoskeleton to protect against immune attacks
FHNEGE e DoB 350008 ATGE DF IO 0850

3. %

Modulation of the host's immune response to avoid detection
D00 NaTrdOIERE TTUPR T30E) THATEE 15363030858
OB0EY SR BAS

4.
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Which structure in the digestive system of Hirudinaria granulosa is responsible for
the storage of ingested blood?
SFBIBT BT (MPe0 S v 2886355065 &) DT80 BXNFS) S5 Ded &
DONTTRE 2 zed HTN0D?

Options :



Pharynx

D08
1. %
Crop
15"
2.9
Gizzard
Az
3. %
Intestine
2D
4. %
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Which of the following best describes the evolutionary significance of the coelom?
0BT DO WD TINE) DOETN (BT30W LS EHHOTT DeIBNOH?

Options :

Provides structural support to the body

008 AT 76528 oD 0B
1. %

Enables efficient gas exchange
oD P0S T TPER 50 HAEE DT 0SB0



Facilitates movement and locomotion
£S5 D00 SRR NOLBE0 TR0

Allows for the development of complex organ systems
D08 €9650069 035030 @8)eia@8 DFFODNDROE
4.
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What is the main advantage of metamerism in animals?
- -6 e, w e, o bl
2000 FEFO230 TRNEY (DTN (3TN0 a3 ?

Options :

Improved sensory perception
0T QOIOCD €9a3TTaT"0)

Enhanced reproductive capacity
), 20N $)eS0eh 18 BrenG 0
LB

Increased body size
368 H05re0S DDSDH A

3. %
Functional specialization
D0SND DINBBAD

4.
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Correct Marks : 1 Wrong Marks : 0

Which group of insects primarily undergoes hemimetabolous metamorphosis?
D 85PN |TPAMEOT TTFLDESOD DEFSTE VD EOR GoEFon?

Options :
Beetles (Order Coleoptera)
2e35 ) (336 EOTJrT°)
1. %
Flies (Order Diptera)
DR (8C0 GO
2. %
Butterflies and moths (Order Lepidoptera)
RESEDenEe SHB0 I (335 BHE D)
3. %
Grasshoppers and crickets (Order Orthoptera)
FOzrnen HOCN 1835w (688 el o0
4.
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Which of the following is an example of a crustacean larval form that exhibits
planktonic behavior?

8065365 3D 138D (D80T |IENVON® erTe 5 EraT SIS
DO?
Options :



Zoea larvae
Sase eror ¢
1.¥

Megalopa larvae

y o DTS TS

Postlarva larvae
NGV 0 Dl 03

Juvenile larvae
BRO eFT°§
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Which of the following statements about the reproductive mode of Peripatus is

correct?
2OTPED TBNEL 25K 18 TS0 HBO0D &2 1B0A 5L DO

DBIE?

Options :

Peripatus reproduces exclusively through asexual reproduction
OTER 9B0RE dEEd 18 TP LT° YIt0ed 18 TVOD

Peripatus exhibits oviparity, laying eggs externally
OO L8 OTFEON 230eM0), 2% FOTT MY TR0



Peripatus undergoes viviparity, giving birth to live young
OTPERN L8 VBN 2306506) OO DDOFY 235NN

Peripatus reproduces through a combination of oviparity and viviparity
DOIEID OEFFAN0 DO VNVaTOES BOGOES T*sT° &S Ges 163
DR
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Torsion in gastropods refers to
TslaFFGE)S SES HE3Q rdNoS
Options :

The coiling of the shell
20O B sFan®oh

1. %
The rotation of the visceral mass
DTG S TBE) eS80
2.
The formation of the foot
PCI0 DG CEE0
3. %

The development of the operculum
Ao VB {SISVELENINRIW

4. %
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The madreporite in echinoderms serves as
DESTES SPIBFTE T3INEY 1aT0 £eh

Options :

A sensory organ
2,8 Q0IO0D 50000

A reproductive organ
SIS €0050630

2. %

A water intake valve
Qe3 BNEN0S SEITJrHNE TS ¢
3. ¢

An excretory organ

2.8 D0 @300DD0
4. %
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The dipleurula larva is characterized by
&Ser eroe g O oo HlopR0s

Options :



Radial symmetry
BA0HS DUTHS

A segmented body
D5ROBDAES 4650

External gills
PARSEEN WA RTSY

Bilateral symmetry

BBOES SDEFHES
4.
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Which of the following is a class within the phylum Hemichordata?
808 73S TNEOTEP DO TR DO?

Options :

Polychaeta
T TET

l. %

Asteroidea
50 OO

2. &%

Enteropneusta

DOV Y 5
3.¢



Cephalochordata
QTS T ey

4. &
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What is the function of the collar region in Balanoglossus?
rOSTING 5208 P00 TZNE) D DWe3?

Options :

Sensory perception
Q0|09 148
1. ¢

Locomotion
SEIFAS

Gas exchange
MR P0G

3. %
Reproduction
, BTN M AL,
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Which of the following is a characteristic feature of oligotrophic freshwater
ecosystems?

80057¢365 L.OF DT HoDDE3 HTP5IEE 9530 50 DO?



Options :

High nutrient availability
oY SFATe) ©2ifed

Abundant plant growth
SINVATATS LIRSS B o W aV In D)

Low oxygen levels
580700 e38)23S oW

Clear water with low productivity

e550).05 G )5S DI A
4. &
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Which process in the nitrogen cycle converts nitrate (NO37) back into
atmospheric nitrogen (Nz), completing the cycle?
G132 BB O 1DEAD BIBE (NO3 ) @6 srerdde BT 2 (N2)m™
SPB00E?

Options :

Nitrogen fixation
Sevd) VOEEE

Nitrification

2. &%



Denitrification

AT E3DBA®
3.¢

Ammonification
OV BAD

4. %
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Which of the following best describes the energy transfer efficiency between
trophic levels in an ecosystem?

DT8G5 95906F 1E°DE T owe> 05 48 200 FHTED) 8od 3
DO EADOTT DdONOE?

Options :
100% efficiency

1 100% ara0¢s0
L ®

50% efficiency
50% e Q£0
2. %

10% efficiency
10% a0 QF0

3. ¥

1% efficiency

1% teNQ 0
4. %
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In a forest ecosystem, which trophic level is expected to have the highest
biomass?

€9E)8) NT5I5ED 9330, &) 1S o e9ehsHE TSR O
EGOEN0AR) 2™ $0?

Options :

Producers (plants and trees)

8PCaP 500, (B8 SO TEW)
1.

Primary consumers (herbivores)
PG E §adcnnb8 ) (F5raa doen)

Secondary consumers (carnivores)
E1BAD TS 008 Y (Aot en)

Tertiary consumers (top predators)
5e30D FIDT ) (€91 SO Sen)
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Which of the following is an example of amensalism?
2803 @S IOrAE GIT SR DO?

Options :



Predator-prey relationship
BB DODOO

Parasitism

o T° e3230
2. %

Competition for resources
9% §H0 &3

Antibiosis
osroedaairn
4.
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Which of the following best describes a population growth curve that exhibits
exponential growth?

NP 08 59O (D80T ey DN S50 80 7¢36T DO
DO DIBNO?
Options :
Logistic growth
23T 0398

Declining growth
8,630, S59@

2. &%



S-shaped growth
S-a35°Ca)) 9@

J-shaped growth

J-e3523503) 03B
" J) ede)s
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How does soil pollution impact nutrient cycling in the soil?
T e 0 HES FNE DEOR DeT |DeFNB0 TROE?

Options :

Accelerates nutrient cycling
s EoR Jd0es0 TROH

1. %
Slows down nutrient cycling
FASe EONN TaBNO0H
2.¥

No impact on nutrient cycling
PSP EOMD (D250 0D
3. %

Alters the composition of nutrients
805 S0 e Srden0d
4. %
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Correct Marks : 1 Wrong Marks : 0

Which of the following birds is considered critically endangered in India?
808 ¢3S &) HE rSSTI0S 905500 TFEAD) EN NONETOTIA0E?

Options :

Common myna
Bfalels

l. %

Indian vulture

RORONR T° 20D
2.

Indian pitta

QOGO &
3. %

Purple sunbird
HBIO 55D

4. &
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Which of the following regions in India is considered a biodiversity hotspot?
808 ¢3S &) [BrOe50 S STF0T R BT E SFEar )T
20fedotiaciethod?

Options :
Thar Desert
o0 @0



Western Ghats
M RINVESINAISVSY
2.

Rann of Kutch

3 OO & &S

Deccan Plateau
%3S BT
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The Wallacean Line is a boundary that separates which two regions?
T ROND 0D o) OO [BPOTEON INT R DOTED?

Options :
Europe and Asia
A8 HO0 esaie

1. %
North America and South America
&G 3005 HO0KN 8 80 @O

2. %

Australia and Asia

& OOST SHOC esoT®
3.¢



Africa and Europe
es|D5® DB ALFSD

4. &
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Which of the following behaviors is an example of innate behavior in birds?
HEOS DSTFBVEDOD (30388550 &2 180 (DSBS DO GTreTEea?

Options :

Nest building
e 840

l. ®

Song learning
o) B )50

2. &%

Migration

3 NS

Tool use
RUATNIA TS [V iiale)
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What is the primary function of pheromones in animal communication?
23065 L0 TANS DT IO EPAME [HTraN0 20ed?
Options :

Attracting mates
QT IHDON esEdod

1. v
Protecting against predators
STORTIES od &8 0o
2. %
Regulating body temperature
FOS &5 DOHOBOTIO
3. %
Enhancing vision
S99 DEHISNOE
4. %
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Which brain structure is crucial for the generation and regulation of the

circadian rhythm?
VT, A0NA OB e85 )18 DO ACHO|BIEY o) IR AT°IE0

8er¥0?
Options :
Amygdala

€9 e
1. %



Cerebellum

GBOO
2. %

Hypothalamus
ARV INVER
3.¢

Hippocampus
FA O AT
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Retrogressive metamorphosis in urochordates is primarily associated with
OB FE SR B DD SEraroddo (Do AS D000 EOA
rlelAVIIA!
Options :
Adaptation to a sessile lifestyle

v 3 10 22559308 eaciheaom

Enhanced reproductive capabilities

[N YeSE0eh 188 DT e

Development of complex sensory organs
H08R ROIOODH 5T €03)s59 0



Transition from marine to terrestrial habitats
QD00 0B BrfiieeR8 DO
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Which of the following is a unique characteristic of Petromyzon larvae?
808 3 DESTDES eror s TBE) (DBsE ©F 0 DO?

Options :

Presence of scales covering the body
FOTPQ)) ) GOW WD)

Development of paired fins for locomaotion
SETTAS N0 2365 TS BELO e98)5590

Ability to breathe through gills
SNDIE T LT® F°LV0T NP0
3.¢

Formation of a protective cocoon during metamorphosis
DEFPSTE IR D0 B8 5 FES DBICHEI0
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Which of the following is a characteristic feature of ganoid scales found in some
fish species?

D9 2SS 0T MSaNG O) TnE) DOE RS 0560 8od
¢3S DA?

Options :

Elongated and overlapping shape
SPCOMH SOOI 9835 5250

1. %
Thin and flexible structure
DAL OA P8 NS DT 0
2. %
Absence of any growth rings
2D derairen BESFI0
3. %
Presence of an enamel-like outer layer
. DD er0e3 2200 e3 &rd G0ocsero
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Which of the following is an example of neoteny?
800 o¢3¢Y ATITBIANE STUTEen IO?

Options :
The retention of gills in adult amphibians
SEBr23 E&5ANBT O TDIO eV
1.v



The development of wings in adult birds
ST HHVOES BELe €98)s5yd

2. %

The transformation of a tadpole into a frog
erE S ED T PSSO

3. %

The growth of antlers in adult male deer

53323 i BoEOES TS0 DEDH S
4. %
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Which type of temporal fossa is found in lizards and snakes?
260N HOASY aFSNOS’ &) SEDS BOFES Far EDNN0E?

Options :
Diapsid temporal fossa
BOSFr)B BOED Far
1. v

Synapsid temporal fossa

W) BOFSD OFar
2. %

Anapsid temporal fossa
0 )E BoSSFED S



Euryapsid temporal fossa
OO DYE TLOFSD ar
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What is the primary function of the keel in birds?
DEOE’ §S TBNE, 12NE DA a0e3?

Options :
Protection of internal organs

1 @005 29,5000 G5
L&

Providing attachment sites for flight muscles
A0 0Tre 00 @erSan0dd E XN @000
2.¥

Enhancing aerodynamic efficiency
DT TS DTN DSOS

Facilitating digestion of food
e353° 50 200 @D ieT TROH
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Which type of mammalian dentition is characterized by the presence of

cuntinuouslg growing teeth?
2 S5 886 ooy Gomren ABoSB0 D HeEran?

Dt

Options :

Heterodont dentition
RO 08 Bos3As

Homodont dentition
ST Sr&E 08 Toe3Aad

Monophyodont dentition
IS DAL BOL3AS

Polyphyodont dentition

. o) O3rEP0 TOE3A®
4,
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Which type of cleavage occurs in animal embryos where the yolk is
concentrated at one end, resulting in the formation of a blastodisc on top of the
yolk?

DTS 2.8 DS So|OEIB D &) B0ed DOTOS’ 2 BES DO
B0 0A? & DOE HOSOMT HTIITS S EFAVY DS )0

Options :



Radial cleavage
DAAHS DOY

Spiral cleavage
2388 DOE

Discoidal cleavage
BFronGS DOE

Bilateral cleavage
BerBsS DOE

4. &
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Which fetal membrane in a chick embryo plays a crucial role in gas exchange?
O SBIAES G OGO R & VOO TS SO ared FNNOD?
Options :
Amnion
€300 QD

l. ®

Chorion

SYaleVu)
2.¥

Allantois
eoer0STon®



Yolk sac
INRTN

4. %
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Which type of placenta allows for the direct exchange of maternal and fetal

blood?
2 SES T R0Er 4O HBHOW DO BE0 TZWE) 19588 STOIGD
€9 AN BN O ?

Options :

Diffuse placenta
S50 TR0

Discoid placenta
GFLOo0E T R0oEr

Cotyledonary placenta
Ee3DEND TR0LT

3. %

Hemochorial placenta

B RS OONO PROEF
4.
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Which of the following statements about regeneration in Turbellaria is true?
&8I0’ S0es 1B HOO0D 80D (HEOSS DA 2307?

Options :

Regeneration in Turbellaria is limited to the regeneration of the digestive
system

&8 )BT $)5t0e5)8 288 5555500 TBNEY 5051838 HONEB0
DOLDAOO

Turbellaria can regenerate into completely new individuals
&P O §S SrH0eT'8 5ithes 18 ToHHeIED
2.

Regeneration in Turbellaria occurs only in response to external injuries
B IETOATET SYSESBI 2T s TOSF OB (263 JOSSTT S |ch e
280D o

3. %

Turbellaria cannot regenerate their nervous system
38 )OO TG 09253060 YeIt0es 188 TAHED
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Which of the following components is a major constituent of the plasma
membrane?

808 ¢3S Ty &F S BNEY (DTS 2N DE?

Options :



Mucleic acids
&reSoms esadrewn

1. %

Proteins

(8 e3c)
2. %

Lipids

DFNTN
3. ¥

Carbohydrates

58 ) 3B
4. %
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Which of the following functions is associated with the Golgi apparatus?
808 T3S A ) OG0 & D00 IDA0O?

Options :

DNA replication
DNA [Desdiraes

Protein synthesis
15¥¢3S HoBaed
2.



Lipid synthesis

. ODE H0FNE
1

Post-translational modification and sorting of proteins

29e05°C) €903065¢5 30383 DB 18FE3 (BN DESE
4. <

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options are
chosen.
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Which of the following accurately describes the arrangement of histones in a

nucleosome?

808 ¢3S DO SredTBrS NS RSO ©.505 D SO
DIBNOH?
Options :

Two copies of each histone protein form a complex with DNA
1998 areFS 15Fe3S T30E) BO e DNAS D085

e QOG0
Histones are randomly distributed along the DNA molecule
- DNA e9£0a) 308) QAT )T NS0 GOLN0O0

Each histone protein binds to a specific DNA sequence
1283 S7EFS 157¢3S 2.5 D0 DNA (338 2205008



DNA is wrapped around a core of eight histone proteins DNA
DADE SFEFS 1830 85 YT QDA G0N0
4. %
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Which of the following is true about the role of the spindle apparatus in mitosis?
DEFRNS’ DYJ0AS @GN aried HOOD 808 T3S DO 2307

Options :

The spindle apparatus assists in DNA replication
00RO @850 DNA (2e38T0EeY eI ONICR0E

The spindle apparatus helps in cell membrane formation
DOBS DGR & €8 5750 DG CEPDE BFANDENA0

The spindle apparatus separates the sister chromatids during anaphase
LI IN DeNONOS VIOAS 0GR SO (ES5re3B O F

DNOE
3. il

The spindle apparatus is responsible for the formation of the nuclear
envelope

5000 DS 5O DEETAE DI0AS DSV 25 SSaTNOE
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What is the correct orientation of the sugar-phosphate backbone in a DNA
molecule?

DNA €636 738)5-a7 )€ TB0EY OB E5E3 d0e3?

Options :
Parallel
IVl Telolsk

Antiparallel

328308 DSroesSomnT
2.9

Perpendicular

0O

3. %
Diagonal
8GO

4. %
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During transcription, the enzyme responsible for synthesizing RNA from a DNA
template is

LEPIOIDS SDOHOS’, DNA B0 cnoé RNA H0306%0 23¢i5ed
35703 DOBS

Options :



DNA ligase

DNA 80
1. &

DNA polymerase
DNA 000

RMNA polymerase

RNA 2765000
3.

Reverse transcriptase
855, 1ET Q.0 W

4. %
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In the lac operon of E. coli, the repressor protein binds to the operator region in
the absence of

E coli TB0E) o5 TSy, &2 1806 ¢3S B0 (85835 B
DH0H0ES NS FroerE 2000

Options :

Inducer molecule

GE e9ged
v ) J)

Promoter region
(109a35°¢2D 2050



RNA polymerase
RNA ar®cH00

Regulatory gene
BHBerd 233085
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Which DNA polymerase is commonly used in PCR due to its high
thermostability?

Q8 HF0DOES S0 PCRS' armr3eaornT &H03rHow DNA
)00 DO?

Options :

Taqg polymerase

erS arddo
1.

DNA polymerase |

DNA 2900 |
2. %

RNA polymerase
., RNA r® 00

Reverse transcriptase
0555, EPIDN @
4. %
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According to Mendel's Law of Independent Assortment, which of the following

statements is correct?
HOTS TBE) D2e50(eh Ertfens) B0 (D550, 808 763 DO IBIE?

Options :
Alleles for different traits segregate independently during gamete formation
DN O Fren BB o) DEIB NN & 50|50oTT

L@ edEon

Alleles for the same trait segregate independently during gamete formation
THE DEITB De00H0S 2.8 05800 FH0 9BBR D H0oHOmT S
oSN

The dominant allele always segregates from the recessive allele during
gamete formation

TS DEIB HDN0HOET e3sODehs DTN DD IET BT S
BB Do T BROS

Each individual carries only one allele for each trait, which segregate
during gamete formation
198 EFDHO (D6 ©F T8 2.8 DBV S EOR S0en0d, O
TahE DEIB HHaHoeS S TS
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Which of the following statements best describes the role of crossing over in
genetic diversity?
23008 D20 (5°0002,098 a7 5D 8060 ¢365 DO EedHom
aIDNOE?
Options :
It creates identical copies of the parent's genes
20 OGO 205IO 203 DAV SO DYV

It increases the frequency of mutations in offspring
QB HOTN0S 651030 DL I DOV

It increases the genetic variation among offspring
QO QOTTRO DR BeE BTGP 0TNER0D

3. ¥

It prevents the inheritance of certain traits
2O T O e ST ADONOO
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Which of the following statements is true regarding aneuploidy?
ST oG8 H020S0N 806 WEDoHOS DA 230?
Options :

It refers to the presence of an extra set of chromosomes
2O @A) IFITFETNO GAE HrDN0H



It is caused by the loss of a whole chromosome
2O JNB0 (RS DD 55705850 05 300

It results in a total chromosome number that is not a multiple of the
haploid number

P 260 oG VoW ABwE MHeaso ¢
3.

It occurs only in somatic cells and not in gametes
QO F37e35 S SPHT 0DV HOO THEOS 5260
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Which of the following is an example of an inborn error of metabolism?
8063 25800 HEPES ST S8 SIS DO?

Options :
Cystic fibrosis

1 AR5 DS VD
L&

Down syndrome
TR DOED

Phenylketonuria (PKU)

DABLENOAT (PKU)
3.¢



Diabetes mellitus
DT

4. %
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Which of the following best describes the concept of "survival of the fittest" in
Darwinism?

3020230 "ND 535S @ A DB ©F 2% 808 7365 DO
EBDOM DoIBNOH?

Options :

The strongest and most physically dominant individuals survive and
reproduce

DOV DD e9edr0ed e3ODBE0 Grd) ) 2ajen Seicd i o

SO HABEB I T oW

l. ®

Only the individuals with the highest genetic variability survive and
reproduce

@555 2005 BRGS0 256300 IS0 DN TFHT D SHOASD
5)eSC065 183 Tard

The individuals that are best adapted to their environment survive and
reproduce
¢3 DTG ETVE @cDETPOOMT 0T 22e)eN DM i ow
DB YedDed e T oW
3.¢¥



The individuals that are most resistant to diseases survive and reproduce
P2CNOB) eoehz0ed DTS EORD 2250 20D Hedtes 18 TRTOW

4. %
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Which of the following conditions must be met for a population to be in Hardy-
Weinberg equilibrium?

22 $F0-DSB0 HnEF 30 S0 Bod 73S ) Adher
50 10 aredord)?

Options :

Random mating, mutation, and gene flow
A5 9908 DO THO, SNEBINQ SHBA 236§ |DTTFO

1. %
Genetic drift, natural selection, and mutation
23008 (2P0, o2 DONE DO ST
2. %
Large population size, random mating, and no gene flow
DG BTy, GIPGHNIE NOFHO HBA 2N (D0 BEvom®
3.¢¥
Non-random mating, gene flow, and mutation
O ASFYDNE DoB MO, 22608 (D%T0 DO S0FTIAS
4. %
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Which of the following statements best describes the effect of genetic drift on
genetic variation?

23002 BNCIZOD 2808 LION0 TNE) (N2 806 73S O &BHorr
0B NOO?

Options :
Genetic drift increases genetic variation in populations
230308 (DT 230727 23008 BAPERY DOTNHRO0A

Genetic drift decreases genetic variation in populations
230308 (D0 32l 23608 SR SNVOS

2.¥

Genetic drift has no effect on genetic variation in populations
23S 23008 BAZ0D BV OO 127650 TR

3. %
The effect of genetic drift on genetic variation depends on other
evolutionary forces
23008 DGO 2L VOO0 TINEY (22730 QedS DO 50D
.y TGN G0N0H
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Sympatric speciation is most likely to occur when
230712208 VAR T8 5280

Options :



Two populations are geographically isolated from each other
B0 Barer 3 NP0 LET TS I TAHOBOS

Gene flow is high between two populations
COCR) 2T oDQE 220008 [0060%0°0 W) E000TP €50EN00

Two populations occupy the same geographic area but utilize different

habitats or resources
SOt 2772 2.3 THE |roerd)) SHTAN0O 5°R) S0 250

RO BI° DO SATTA0TNE0EN0D
3.9

Genetic variation is low within a population
23S 23008 BNCIZ0 SB0LSTT G0N0



